Navik GD Paper Mathematics 21 March 2021 (All Shifts)

20 Questions

Que. 1 If br. —6 ‘ = 12, what is the value of x ?
1. 1
2. 0
3. 12
4. 2

Solution Correct Option - 2

Que.2 |t y = sin (log cos x) then what is the value of %

1. cos (log (cos x)).tan x
2. sin (log (cos x)).tan x
3. -cos (log (cos x)).tan x
4. - cos (log (sin x)).tan x

Solution Correct Option - 3

f(x)

Que.3 1 f(x) = x>+ 3x>+ 3x - 7 then find the value of “- atx =2 ?
1. 23
2. 24
3. 27
4. 30

Solution Correct Option - 3

Que. 4 What is the value of — 13300 -5 Siil Yre =7
L 20y
2 214y
3. 5(1+v3)
T

Solution Correct Option - 2

Que.5  Find Lsin(e¥® 3vX) =2
dx

1. 3 cos(el 3v¥)e®s 3VX(cos 3,/)
2%

2. 3 sin(e’™ 3vE)esi 3v%(cos 3,/X)
2%

3. 3 cos(e® 3VX)esin 3vE(cos 3,/%)
2%




4. 3 cos(ei 3vX)es™ 3vX(sin 3,/X)
RAVES
Solution Correct Option - 3

Que. 6 If foa Tlxz dx = 7 then, find the value of a ?
. 1
2. 2
3. 3
4. 4
Solution Correct Option - 1

Que.7 Iftana.tan (3 + a).tan (5~ + a) =K tan (3a) then, find the value of K ?

I. 1
2. 2
3. 3
4. 4
Solution Correct Option - 1
Que.8 |§> ?\ = ]E) X B>| then, find the angle between a and E)

AW N
wly ey v 3

Solution Correct Option - 3

Que. 9  Find the value of [ 1-x 4y

1+x
1. x
2. X_x;
3. x*
L- 2
4, x-2%°

Solution Correct Option - 2

Que. 10 The integrating factor of the differential equation % +xy=x1s

2
1. =
x2
2. o
3. €*
4.  None of these

Solution Correct Option - 2



Que. 11  If o, B are the roots of the equation 3x2+57x-5= 0, then what is af:{g : equal to ?
1. -27/125
2. 81/125
3. 27/125
4. -125/27

Solution Correct Option - 4

Que. 12 what is the value of lim (1-cos22)
z—0 T
1. 1
2. 8
3. 4
4. 0
Solution Correct Option - 3
Que. 13 If y = x*, what is dy at x = 1 equal to?
dx
1. 0
2. 1
3. -1
4. 2

Solution Correct Option - 2

Que. 14 1f ABT is defined as a square matrix then what is the order of the matrix B, where matrix A has order 2
x 3.

I. 3x3
2. 2x3
3. 4x2
4. 3x2

Solution Correct Option - 2

Que. 15 The value of 'a’ such that the vector 21 - ] + k, 1 + 2] - 3k and 31 + aj + 5k are coplanar, is

1. 1
2. -2
3. 4
4. -4

Solution Correct Option - 4

Que. 16 What is the domain of the function fi(x) = cos™! (x-2)?
1. [-1,1]
2. [1,3]



3. [0, 5]
4. [-2,1]
Solution Correct Option - 2

Que. 17 InaAABC,ifa= 18, b=24 and c = 30 then find the value of sin (A/2) ?

1 1
) V10
1
2. E
3 1
) V15

4. None of these
Solution Correct Option - 1

Que. 18 Given that sin X + cos x = 1 determine the value of tan x.

1. 1
2
2. 0
3. 1
4. 1
4

Solution Correct Option - 2

Que. 19 what is 0100 + 200 + 300 equal to, where ® is the cube root of unity?
1

1.

2. 3o
3. 3p2
4. 0

Solution Correct Option - 4

Que. 20 The coefficient of x? in the expansion of (4 — 5x2)~1/2 is

5
1. 6
2. =

16
3. &

12
4, =5

12
Solution Correct Option - 1
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